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Apply pertinent knowledge in identifying and solving aircraft engineering technology problems
Apply mathematics, science, and applied sciences to aircraft engineering technology
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Question Text: Calculate the Kinetic Energy of a body of

Details: Multiple Choi
Hitipie Lhoice mass 20kg which is moving wi...

Details: Multiple Choice Question Text:. Wh.at'will happen to acceleration if the
mass of an object is increased...

Details: Multiple Choice Question Textf Find the Time Period of the Pendulum
whose length is Tm.

Details: Multiple Choice Question Text: Angular Velocity is

. ion Text: Ampli is th
Details: Multiple Choice Question Text: Amplitude is the

displacement from the mean position.
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Multiple Choice

Multiple Choice

QUESTION TEXT

Question Text: A toy car is given an initial velocity of 5
m/s and experiences a...

Question Text: An example of rotatory motion is

Question Text: 1 rev= radian

Question Text: If a body starts from rest and reaches 84
m/s in 3 seconds. Calculate ...

Question Text: cart.gif The image in the pic shows A
. &

Question Text: track.png The image shown in the fig is

Question Text: Motion sensor.png The sensor in the
figure is

Question Text: Rotatory motion sensor.pngFinal Exam
images The sensor in the image is...

Question Text: v vs t.png The Acceleration displayed in
the graph is

Question Text: The angular acceleration displayed in
the figure is

Question Text: The image shown in the figure is

Question Text: T2 vs L.jpg The unit for slope in this
graphis
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QUESTION TEXT

Question Text: Final Exam imagesw vs t.png What is
the angular acceleration from 2-3&...

Question Text: w vs t.png What is the angular velocity

at3sec?

Question Text: According to Law of angular momentum

the product of
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Question Text: Exp 2 A
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QUESTION TEXT

Question Text: Exp 2B

Exp 2A.jpg

From the graph below, determine the
acceleration of the cart, if any
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Question Text: Exp 1A

060 065

exp 1.jpg Find the slope of the graph for

simple Pendulum by using the formula
m = Ya-V4

Ko Xy
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[ Details: Multiple Choice Question Text: Exp 1B Alignment Count: 0
exp 1.jpg Find the acceleration due to gravity using the
below formula .
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U QUESTION TYPE QUESTION TEXT ALIGNMENT COUNT

Question Text: Exp 5A

Exp 5A.jpg

Two carts collide on a dynamics track. The
graph shows how their momenta p1 and p2
change before and after collision.

Find the time when the two carts initially
come in contact.
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Question Text: Exp 5B
Exp 5A.jpg From the graph below, calculate
the total momentum after the collision.
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Details: Multiple Choice Question Text: Exp 3A Alignment Count: 0

Exp 3A.jpg
A dynamics cart is accelerated by a mass a
Find the magnitude of the average force a
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(] Details: Multiple Choice Question Text: Exp 3B Alignment Count: 0
Exp 3A.jpg Use data provided to find the
mass of the cart. m=F/a
(Hint: First, find the acceleration from the
velocity graph).
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Question Text: Exp 6 A

Exp 6 A.jpg

What is the angular velocity of the disk after
dropping the ring?

4.280 s, 29.7 rad/s

20

Details: Multiple Choice

A Angular velocity (rad/s)

i Alignment Count: 0
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[Graph title here]

Details: Multiple Choice Question Text: Exp 6 B Alignment Count: 0
Exp 6 A.jpg
Calculate the angular momentum of the
system just before dropping the ring onto
the disc, given that the moment of inertia of
the aluminum disc is
Ig=1.4x10" kg m*

Angular Momentum of the Disk=Moment of
Inertia of Disk*(angular velocity of the disk)
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Question Text: Exp 4A

Exp 4A.jpg

A cart is accelerated along a track. Sensors
recorded the accelerating force acting on it,
its position and velocity.

The graphs show the variation of force vs.
position and the variation of both velocity
and position with time.

Fatima attempts to relate the work done by
the force to the variation in the kinetic
energy of the cart.

Is Fatima taking all her readings between
the same two points on both graphs?

Explain.
Details: Multiple Choice AR -2 EFAER:AAN-L v rrXs |@-ERe-2r-afFf4+r Alignment Count: 0
[
Run #3 | 1|
05
00
- [ [021¢] .
8 E T -
s Area: 0.0500 M- m P I
g 8 /
4 s >
0.2 {
02 -Lh c+;f‘..="-‘ . T . H. — b Q) [y ——
10137
Y
o1 | 0.2 0.3 0.4 05 1820 22 24 18
FEE & Position (m) 027 2250 L
[Graph tide here] [Graph title here]



https://elearning.adpoly.ac.ae/bbcswebdav/xid-415762_1

QUESTION TYPE QUESTION TEXT ALIGNMENT COUNT

Question Text: Exp 4B

Exp 4A.jpg
E‘!I'EB & -2 [EFAET-RAMN-L FF EEX-
[ Jr
Rum #3 | M
0.0
£
2 Aren: 00800 M m
< 0.2
< 0.2 E
02 L Mepy &2 - &+ .
Details: Multiple Choice ' s Alignment Count: 0
o1 | 0.2 0.3 0.4 05
o A Position (m) s
|Graph title hera) |

From the graph above, calculate the change
in the cart's kinetic energy of the cart using

L 2 .2
the formula &4K.E= Emwf — V") where mass

of the cart is 0.614kg.

Details: Multiple Choice Question Text: Exp 8 A Alignment Count: 0
Exp 8 a.jpg
A mass is hanging from a force sensor by a
string. The sensor recorded the tension in
the string while the mass is hanging in the
air 71 and and while the mass is submerged

under wateritis /2. Use the graphs to
calculate the buoyant force F=T2— T4
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Details: Multiple Choice

Details: Multiple Choice

QUESTION TEXT ALIGNMENT COUNT

Question Text: Exp 8 B

Exp 8 a.jpg

Use data provided to calculate the volume
of the hanging mass, given that density of

the water is
- kg
p =993 E Alignment Count: 0

Use the relation F =23V where F is the

bouyant force which is 0.23 N,where 'g'is
the acceleration due to gravity.
Find the volume ' of the V'

Question Text: EXP 7A Alignment Count: 0
Exp 7.png
Find the angular acceleration of the disk.
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Question Text: Exp 7B
Based on your knowledge ,what should
happen to the total angular momentum of
(] Details: Multiple Choice the system in the absence of external Alignment Count; 0

torques using equation
L=lwy=1lwy
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